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2 AT A /E’z fiis _— ——1  <0.000001 ——|  0.000006{ <0.000001}  0.000002
A v x F —
E A A v om IE A <0.002
7 . ) = N ¥ <0.0005
=] =n
¥ om o om omK = 1.2 1.2 1.2 1.1
e e s o 15 1.1 1.1 1.1 0.6 1.4 0.6 1.1
2R FE(TOC) D& ¥ ¥ L L 1 0.9
54 o] 7.7 7.6 7.8 7.7
P H B 15 7.0 7.4 7.5 7.4 8.0 7.0 7.5
I 23] 7.5 7.5 7.7 7.6
S el Bl B B B
52 & Bl BEL BEL BEL BEL
4 =] 0.6 0.6 0.6 0.4
i i i 0.1 0.2 0.2 0.1 1.0 0.1 0.4
I ¥ 0.4 0.4 0.4 0.3
54 = <0.1 0.1 0.1 <0.1
1) B fiis <0.1 0.1 0.1 <0.1 0.2 <0.1 <0.1
N ¥ <0.1 0.1 <0.1 0.1
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MEFKE ABK

H A (mg/0 ) 44 54 64 A 8H 94 104 114
b 7 20.1 26.0 27.1 31.8 32.0 26.4 22.0 18.5
O (HFEHME) {9 - 7.2 17.8 16.6 21.7 24.9 19.3 13.3 8.2
¥ # 15.6 21.2 23.2 21.3 28.7 22.9 18.0 14.0
& ] 10.6 15.5 20.6 21.2 24.9 24.8 21.7 17.9
K 1R i3 {9 - 7.5 10.4 15.5 20.0 21.1 21.4 18.3 13.4
¥ ¥ 8.8 12.4 18.2 20.5 22.9 22.5 19.9 16.4
b " 228 224 226 230 196 220 241 267
B R 58 R 1% - 219 213 210 181 169 182 214 239
¥ 15 226 219 220 190 185 201 229 247
b [ 1.2 1.0 1.0 1.0 1.5 1.3 1.1 0.9
B O Fik {3 - 0.8 0.7 0.7 0.6 0.7 0.8 0.6 0.6
¥ # 0.9 0.9 0.8 0.9 0.9 1.0 0.8 0.7
b = 0.9 1.0 0.9 1.0 1.5 1.2 1.0 0.8
OB R Rk B’ LoLF 0.6 0.6 0.6 0.6 0.7 0.7 0.6 0.5
F %) 0.8 0.8 0.8 0.8 0.9 1.0 0.7 0.7
TviEy kO E 0 AW 00T <0.002
77 vk O ZE O A P 0002k T () <0.0002
Sy SV EOZE O A B 0028F <0.002
1,2-vY 7w x & 0004F <0.0004  — —  <0.0004  — ——  <0.0004 —
b v T U 04T <0.02 —_— —_— <0.02 <0.02
THEANVBY Q- F V~Fv)L) 0.0824F <0.008
v/mnmr7 b=k 00l F(EE —_— <0.001 — — <0.001 _ — <0.001
ok 7 v 7 — V002l F(EE) — <0.002 —_— <0.002 ) — <0.002
g 4 1% B2l 20ulF
1.1, 1=FV 7w o03UF <0.03  — — <0.03 <0.03 —
AFNV-t-7 FNz—F M 002WTF <0.002 —_ —_— <0.002 <0.002
D a-vn o mryramn g 3LLF 2.6 1.9 2.9 2.2 2.2 2.3 2.8 2.8
HO& B P ( TON )| 3TONBIF 3
BRIy YT R )| R
B % &k @ @ ST — — of — — 0 — —
1. 1-vY 7Ly owr <0.002 ) — €0.002 <0.002
2 £ 3 -
T Vv Vil J L -
T vt =7 EE K - <0.02 €0.02 £0.02 <0.02 <0.02 <0.02 <0.02 €0.02
it i A 7+ v - 16.9 19.5 15.7 11.5 11.2 11.5 11.5 11.7
il J v A - 2.4 2.7 2.3 22.0 2.0 2.3 2.4 2.8
1.1.2=-NY)Jmm= il - <0.0006 —1|  <0.0006 <0.0006 —
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B H AT H )
12A 1H 21 3/ 74 =154 iR Bl %
74 = 15.2 9.5 16.4 16.0
AOR QR FEBME) R s 4.4 -0.7 3.3 3.4 32.0 -0.7 16.8 366
F ¥ 8.9 5.7 6.4 9.8
54 = 13.4 9.3 7.9 8.5
K 1R | 1% 9.1 5.3 6.0 6.9 24.9 5.3 14.6 366
F ¥ 11.3 7.6 6.6 7.7
74 = 263 285 289 236
" R B 8 K {liS 240 246 231 219 289 169 226 366
F ¥ 248 265 257 230
74 = 1.0 1.1 1.1 1.0
% W B Eik {1iS 0.6 0.6 0.5 0.6 1.5 0.5 0.9 366
3 ¥ 0.8 0.7 0.9 0.8
74 = 0.8 0.9 1.0 1.0
OB R EiR {liS 0.5 0.5 0.4 0.6 1.5 0.4 0.8 366
3 ¥ 0.7 0.6 0.8 0.8
TvFEVY RO ZEDOWREY <0.002 1
77k EOWNAEY <0.0002 1
=y sV kB ZEDOED <0.002 1
l1.2-vY ZnmonpxH v R <0.0004 _— _— <0.0004 4
}~ % - v _— <0.02 _— _— <0.02 4
THELBYQ- = F A ~F L) <0.008 1
YZmwmw7 kwbh=hrU E—— e <0.001 e <0.001 4
ok v w5 = _ — <0.002 — <0.002 4
i3 [ia I i3 0
1.1, 1—-h)Zumom=x X e <0.03 o e <€0.03 4
AFNV =7 FNV = TN E—— <€0.002 E— e <0.002 4
HHEEW (B~vn vmr) s R 2.1 2.9 2.1 2.3 2.9 1.9 2.4 12
B & @ E ( TON ) 3 1
Boat (7 F YT R ) 0
®ooB X E M H 0 —_— — 0 0 4
1.1 -YZ7ummr=F L <0.002 E— E— <0.002 4
iz FE 0
7 v 7 U B 0
7 v o® = 7 WK OE H <0.02 <0.02 <0.02 <0.02 <0.02 12
it iz A + v 11.8 11.3 16.2 15.7 19.5 11.2 13.7 12
71 Y 7 W 2.7 2.6 2.6 2.2 22.0 2.0 4.1 12
I, 1,2-RKVZmm=xiv — <0.0006 —_— —_— <0.0006 4
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LEKEREFEK (MEFKEHEZK)

FEYERE (mg/0 ) 45 54 6H 7H 8H 10H 11H
— ke il 100{EHEA T /mo 0 0 0 0 0 0 0
N 1% FitEnARNC L (=) (=) (=) (=) (=) (=) (=)
BRI AR OZ oA B 0.0030LF — —1  <0.0003 —  <0.0003 —i  <0.0003
K Kk O %2 o b & ¥ 0.00055F ——|  <0.00005 J— S
YL vk OZE oA W 00LT — — <0.001 _ <0.001 —_— <0.001
k™ o b A& W 0.0UTF — — <0.0005 —  <0.0005 ——1  <0.0005
L #E K O ZE oA W 00T —_ —_ <0.001 — <0.001 — <0.001
AN M7 v Ak A M| 0.058T e R <0.005 — <0.005 — <0.005
WwOR M B %= | 00UT <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
VTIvAL A4 v R Ok Y Ty 0.01LLF — — <0.001 —_ —_ JR— —
WHEZZLCEMNBRE SR 10UTF 0.7 1.2 0.7 0.6 0.8 0.8 1.2
7y FZ R O 0 AW 08UF 0.11 0.13 0.10 0.10 0.11 0.10 0.10
AU E R RZEOAEW LT <0.1
| iy 1t b | 0.002LLF <0.0002 — ——1  <0.0002 — <0.0002 —
1 . 4 = ¥ F F H | 0.05LF <0.005 —_— —_— <0.005 —_— <0.005 e
Eng;\/‘i} /Qf;z;f;ij 0.04L1F 0004  ——  —— w00 —— 0004 ——
Yy wm | A B 0.0 F <0.002 — — <0.002 — <0.002 —
F N 7 uvnuxF Ly 00T <0.001 — — <0.001 — <0.001 —
YU 7 mmr = F Loy 00T <0.001 — — <0.001 — <0.001 —
~ v + o 001F <0.001 — — <0.001 — <0.001 —
1 = el 0.6LLTF <0.05 0.08 0.06 0.07 0.08 0.09 0.07
Vi = = e el 0.02LLF — <0.002 —_ —_ <0.002 —_— <0.002
J w |\ kAl 0.06ELF <0.001 — — 0.002 — 0.001 —
Y 7 wm v E B 0.03UUTF — <0.003 — — <0.003 — <0.003
Y7 mE s mau ALy 0IUF 0.003 — — 0.004 — 0.005 —]
5 = izl 0.01UTF — 0.003 — — <0.001 — 0.001
N N VAN = N A A e 0.006 — — 0.011 — 0.011 —
N YU s om owm R 0.03UUTF —— <0.003 —_— —_— <0.003 —_— <0.003
7 m ® Y oo ix ] 00T 0.002 — — 0.003 — 0.003 —
7 m  F® k) A 0.09UF <0.001 — — 0.001 — 0.002 —
AV A 7 A F b K| 0.08UTF — <0.008 — — <0.008 — <0.008
o kN ot A& W LT <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
ThVIzoh RO Zoam  028F 0.01 0.01 0.01 0.01 <€0.01 <0.01 0.01
B Kk O Z o b A W 03T <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
Gl &k O F o {t & W 1LOUF — —_— <0.01 —_— <0.01 —_— <0.01
FRU T ARk ZE O A W 200 13 21 12 13 18 13 18
v H RO ZE oA 0.0 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
ok W A A | 2008F 14 21 15 12 16 15 20
N T h T %Yy NE 3000 41 60 33 37 42 32 51
7R & 053 w7 |l 500LAF — 104 _ 380 _— 115 —
e 4 4 v R wm 3E % Al 02LUTF <0.02
Y oz A Z 3 | 0.00001LLF <0.000001
2—AF VAV RN RF — | 0.00001L4F <0.000001
kA4 4 v B omEE M A 0.02TF <0.002
7 = ) = v H 0.00UF <0.0005
i = 0.7 0.7 0.7 0.7 0.7 0.7 0.7
zﬁ%*f% (T’"?C) o;; 54 {iS LT 0.6 0.7 0.6 0.6 0.6 0.6 0.6
A % 0.7 0.7 0.7 0.6 0.7 0.7 0.7 0.7
53 =) 7.6 7.6 7.8 7.7 7.7 7.7 7.7 7.6
p H fl % K| 5.8~8.6 7.4 7.5 7.4 7.5 7.4 7.5 7.2 7.4
I % 7.5 7.6 7.5 7.6 7.6 7.6 7.5 7.5
VS JAECRNL FaipLl REARLL REARLL REARLL BREARLL BEARLL BEALL BEARL
# &| BETRNCE RERLL REARLL RBEALL BEALL REALD REAL] REal] REiay
573 I 0.3 0.3 0.3 0.5 0.5 0.5 0.3 0.4
4, i Kl 5EMT 0.1 0.2 0.2 0.1 0.3 0.2 0.2 0.2
¥ % 0.2 0.3 0.3 0.3 0.4 0.3 0.3 0.3
5 & <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
1% R Kl 2EELT <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
I # <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
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CEHETHH)

124 1/ 21 38 |& oy RER % ¥
— ke A 0 0 0 0 0 12
N iz (=) (—) (—) (—) (—) 12
HREIT AR BEOWRAED —_ —_ <0.0003 — <0.0003 4
K & 2 o & | <0.00005 — <0.00005|  <0.00005 4
Tt Lk R E DAY —_— —_ <0.001 —_ <0.001 4
Wk X 2 o kAW — — <0.0005 — <0.0005 4
E#E K OFE O AEAEWY — — <0.001 — <0.001 4
K A= N A — —_— <0.005 — <0.005 4
oy fE e = # <0.004 <0.004 <0.004 <0.004 <0.004 12
YTvAb AL v R ALY T <0.001 <0.001 <0.001 4
WL RE % K OV R MR BE A % 1.1 1.1 0.8 0.7 1.2 0.6 0.9
7 v R Kk OO EW 0.09 0.09 0.07 0.08 0.13 0.07 0.10
Ty E R XZET OEDY <0.1
Py i it R #= — <0.0002 _— — <0.0002
1 . 4 = v F % ¥ v — <0.005 — — <0.005
VA=-1,.2-vYVZuanxF L
K ORTy A=l 2=V /aaxF L - <0.004 - - <0.004
Yy wm o ow A A — <0.002 — e <0.002
F NS 7 mno xF Loy — <0.001 — e — <0.001
K'Y/ B FoL o —_— <0.001 — e — <0.001
~ v ¥ v —_— <0.001 —_— —_— <0.001
ke = [ 0.06 <0.05 <0.05 <0.05 0.10 <0.05 0.05
7 o = e I — <0.002 <0.002 4
Vi = o Kk A — <0.001 e — 0.002 <0.001 0.001 4
i = = 3 — — <0.003 — <0.003 4
Y J a E oo XA S 0.003 — S 0.005 0.003 0.004 4
LA # A — <0.001 —_ 0.003 <0.001 0.001 4
A A — 0.006 —_ 0.011 0.006 0.008 4
A== — <0.003 — <0.003 4
T o ® Y s un ARy — 0.001 — e 0.003 0.001 0.002 4
7 v E Ak A — 0.001 — R 0.002 <0.001 0.001 4
kv A 7 L F bR — — <0.008 D <0.008 4
ogh &k N E O AW <0.01 <0.01 <0.01 <0.01 <0.01 12
TVIZOAR NZ DAY 0.01 <0.01 <0.01 <0.01 0.01 <0.01 <0.01 12
% K N F o k& W <0.01 <0.01 <€0.01 <0.01 <0.01 12
Kk X F o kAW — — <0.01 — <€0.01 4
TRV AR B EOAED 17 15 11 14 21 11 15
~ VR ZEDONAEY <0.005 <0.005 <0.005 <0.005 <0.005
- ./ T 18 16 15 16 21 12 16
AN RN 45 42 38 40 60 32 42
7K 7% 23 B L) — 97 — — 115 80 99
fe A4 A v Hom o IE ME A £0.02
A R T ———1  <0.000001 ——|  <0.000001
2 — AF VAV KRL FA — JE— ——1 <0.000001 ——|  <0.000001
I A4 A v 5w IR A <0.002
7 = ] = 9 7 <0.0005
= 2
e = 0.7 0.7 0.7 0.7
o AL s 15 0.7 0.7 0.6 0.6 0.7 0.6 0.7
MR #E (TOC) D& T ) 0.7 07 07 06
4 ] 7.6 7.6 7.6 7.5
P H il i s 7.4 7.4 7.4 7.4 7.8 7.2 7.5
3 %) 7.5 7.5 7.5 7.5
S Bl BEL Bl BEL BEL
R A el Bl Bl Bl Bl
=4 = 0.4 0.5 0.4 0.5
) B R 1K 0.2 0.1 0.1 0.1 0.5 0.1 0.3
A % 0.3 0.3 0.2 0.2
% I <0.1 <0.1 <0.1 <0.1
18 i i <0.1 <0.1 <0.1 0.1 <0.1 <0.1 <0.1
A ¥ <0.1 0.1 <0.1 <0.1
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[ 18 K 38 1 % F K

(MEFKBEZK)

H A (mg/0 ) 4. 54 6/ 7A 8A 9A 104 114
& £ 20.1 26.0 21.1 31.8 32.0 26.4 22.0 18.5
= iEkS 4 {8 - 7.2 17.8 16.6 21.7 24.9 19.3 13.3 8.2
* 5] 15.6 21.2 23.2 21.3 28.7 22.9 18.0 14.0
s i 17.5 23.3 24.7 27.0 29.6 26.0 22.7 18.3
N R i iis - 12.4 17.8 20.8 22.2 26.3 22.7 18.3 13.2
¥ 5] 14.1 20.0 22.5 24.4 28.0 23.8 20.3 16.6
b5 = 159 183 179 156 190 162 188 189
B R B 8 Rk i - 148 164 153 138 155 144 165 176
I 2 153 173 163 150 170 151 179 181
b4 = 1.0 0.8 0.9 0.9 0.8 0.9 0.9 0.8
%koO®  H #Hix 1% - 0.7 0.7 0.7 0.6 0.7 0.7 0.8 0.7
R ) 0.8 0.7 0.8 0.8 0.7 0.8 0.8 0.7
i fe 0.9 0.7 0.8 0.8 0.8 0.8 0.8 0.7
OB R ik &l LOLAF 0.6 0.6 0.7 0.6 0.6 0.6 0.7 0.6
¥ ) 0.7 0.6 0.7 0.7 0.7 0.7 0.8 0.7
TvFEYy RO Z 0 AW 00uTF
77 v kO E O E B[0.0028F (EE)
=y F NV EOZ0LE B oo0uTF
1.2=-Y 7o =&y 0004UF <0.0004 <0.0004 — <0.0004 —_—
I v - Y| 04lF <0.02 <0.02 _— <0.02 —_—
TENBBY Q- F LV AF V) 0.0824T
Vrmua 7 k= MY V00T (EE) —_— <0.001 0.002 — <0.001
Bk 7 v 7 — N 002lUTF(EE) e <0.002 <0.002 —_— <0.002
i3 i fK B 20uTF
L1, 1= )z7mmx &Y 03UF <0.03 ] — <0.03 ) — €0.03 —
AFENV =7 F Ny = F M 002UF <0.002 — — <0.002 — — <0.002 —
AW Brvr vmayosmrr)| LT 1.0 1.0 1.4 1.2 1.3 15 0.8 1.2
HoOo& M O E ( TON )| 3TONLLF 2
B (70 7T )| R
CINN BTN gl 00 —) — 0 —| —
1. 1=-YZ7unpxF L 01T <0.002 <0.002 —_— <0.002
7 v Vi) ) RE -
T v ®E =7 B E %K - €0.02 €0.02 €0.02 €0.02 €0.02 €0.02 €0.02 <0.02
it i A * v - 13.6 21.0 15.7 11.4 12.9 9.4 11.8 13.7
7 ) v A - 2.1 3.1 1.8 2.0 2.5 2.5 2.3 3.1
1.1,2=-R )/mmrz= ¥V - <0.0006 — ——  <0.0006 —i ——  <0.0006 —
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(3 H HEE H i)
121 1A 21 34 4 1854 1&PF Biiml
54 & 15.2 9.5 16.4 16.0
= 1R % {1i8 4.4 -0.7 3.3 3.4 32.0 -0.7 16.8 366
F % 8.9 5.7 6.4 9.8
854 & 13.7 9.8 9.4 12.4
VIS T e (i3 9.3 6.0 7.1 8.1 29.6 6.0 17.3 366
F ¥ 11.7 8.1 8.0 10.5
74 & 195 187 169 181
EOR B OB K {1i5 187 179 146 165 195 138 168 51
¥ ¥ 191 182 157 171
874 & 0.8 1.0 0.9 1.0
®BO®M W #Eix & 0.7 0.7 0.7 0.7 1.0 0.6 0.8 366
¥ ¥ 0.7 0.8 0.8 0.8
K & 0.7 0.8 0.8 0.8
o B R HEiE I 0.6 0.6 0.6 0.7 0.9 0.6 0.7 366
F ¥ 0.7 0.7 0.7 0.7
TvFE/V RO ZEDNRAEY 0
77 EBEONAEY 0
=y T VR R ZTOLED 0
l1.2-Y 7 mpmx Xy E— <0.0004 E— <0.0004 4
k iz - v _— <0.02 E— <0.02 4
THENBEY Q- F L ~F ) 0
Y mu7y7h=r) e e <0.001 E— 0.002 4
ok 72 v 3 — _ <0.002 —_ <0.002 4
i A R %4 0
1.1, 1-hYy7mm=x & —_— <0.03 —_— _— <€0.03 4
AFNV =7 F NI = TN E— <0.002 E— <0.002 4
HEEW (mvn vy ynmnm) 0.7 1.1 1.1 1.3 1.5 0.7 1.1 12
Bo& m® g ( TON ) 2 1
Be 7y 50T R %) 0
w®oom X% &M 0 — 0 0 4
1.1 =Y Z7nmnuogxF L v E— <€0.002 —_— _— <0.002 4
iz 5 0
T Ju 7 ) i 0
7 v oE = 7 W OE # <0.02 <0.02 <0.02 <0.02 <0.02 12
ot %3 A % v 13.3 14.5 15.9 17.0 21.0 9.4 14.2 12
7 J v UN 2.9 2.5 2.1 2.1 3.1 1.8 2.4 12
l.1.2=-KNVyzsmnmp=x v E— <0.0006 E— <0.0006 4
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REKERREK (F2K)
HVEM (me/| 4 54 64 74 8f 94 104 114
— i b 100fE2A F/mo 7 2 1 0 1 3 2 3
N 15 HHShARNCE (=) (=) (=) (=) (=) (-) (=) (=)
BRI Y A & Wz of &% 0.003LF <0.0003 ——1  <0.0003 —_— ——1  <0.0003
K E 2 o A ¥ 000050 F ——  <0.00005 <0.00005 — —
YL vk OXEONA W 00ULTF <0.001 — <0.001 — —_— <0.001
o kW % D A | 0.01LUT <0.0005 ——1  <0.0005 — ——  <0.0005
E#HEREXE O A W 00LT <0.001 — 0.001 — — <0.001
N oM 7 v A b A | 0.05UTF <0.005 — <0.005 —_— —_ <0.005
MRy B B & FE| 0.04UT <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
/7/“3%47(/& By T 0.01F <0.001 _— — €«0.001] ——F ——
MR REE K R VA B R 100 0.8 0.8 0.7 0.8 0.6 0.6 0.6 0.5
7Ty 3% M XN ZF O A W 08LLF 0.13 0.17 0.11 0.14 0.13 0.14 0.14 0.16
TR ERXZONAD LT <0.1
| iy 1k, I3 #| 0.002L0F <0.0002 — ——1  <0.0002 <0.0002 —_
1 4 = v F % 4 o 0.055F <0.005 — — <0.005 <0.005 —
. B /2_7/”72 - ;ij 0.0481F @004  ——  ——  <0.004 0004 ——
Y 7 wm owm kA ] 0.02UF <0.002 — o <0.002 <0.002 —
FF I 7 mrxF Ly 00UF <0.001 — — <0.001 <0.001 e
N 7 mm o= F Loy 00T <0.001 — — <0.001 <0.001 —
~ v + v 0.01MTF <0.001 — — <0.001 — — <0.001 —_
i % fig|  0.6LLF <0.05 <0.05 <0.05 <0.05 0.11 0.06 <0.05 <0.05
7 = = fie el 0.02LTF — <0.002 — — <0.002 _— —_ <0.002
7 @\ Kb Al 0.06BLF 0.003 — — 0.004 0.003 —
v 7 wm u  E | 00T — <0.003 — — 0.003 —_— —_— <0.003
Y 7w E® 7 wunuiH U 01T 0.004 — — 0.004 0.003 —
B % fig|  0.01LLF — <0.001 — — <0.001 — — <0.001
Wb U N m A E 0 0.011 — — 0.014 — — 0.011 —
MU s omow EE | 0.03UTF S <0.003 — — <0.003 — — <0.003
J o E® Y s mua AR 0.0BUT 0.005 — — 0.006 0.004 —
7 v K v A 0.09LF <0.001 —_— —_— <0.001 <0.001 —_
A AV A T AV F b K 008MUT — <0.008 — — <0.008 — — <0.008
W kO x o & Bl 10T <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
TVIZOAR ONZFOEW 02T <0.01 0.02 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
B &k O o kA& W 03T <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
# Kk O %2 o b # #  1OUF 0.01 — <0.01 ) — <0.01
FRU T AR BEONKAEW  200UF 19 20 15 17 14 14 16 20
<~V AVEOZE oA 0.058F <0.005 <0.005 <0.005 <0.005 £0.005 <0.005 <0.005 <0.005
Bk W A A 2008F 25 28 22 22 17 17 21 28
AT UL, Ry NE 3000 F 65 82 57 62 54 58 61 72
# 7% 33 £ | 500U F — 94 — 114 156 —
e A A4 v R m o iE Al 02T £0.02
VA ‘/ 0.000012L F <0.000001
2= AF AV RV XA — | 0.00001LLF <0.000001
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